
ECHNICAL INFORMATION

For Models

Country

Description

T 67924

Subject

Current part New part NoteQ'tyItem No.

083

I/C

No 2414B

Interchangeable
as a set

Q'ty

1 1

Implementation

Interchangeability(I/C)

Change of Base, etc.

2414B, 2414NB

The current Stopper plate
(Part No. 344089-1) has
been eliminated.  

The current Screw M6x10
(Part No. 251887-5) has
been eliminated.  

The height of Bases
(Part Nos. for 2414B: 165361-6, 
for 2414NB: 165341-2) has become
taller than the current ones.  

European countries, Turkey

The following changes have been implemented as described below to comply with CE requirement.

165064-2

2414B: To be implemented  from Apr., 2003 production.
2414NB: To be implemented from Mar., 2003 production.

Base

079 No 2414NB1 1
165230-1
Base

165341-2
Base

165361-6
Base

2414B: E11
2414NB: E09

2414B: E12
2414NB: E10

2414B: E13
2414NB: E11

2414B: 066
2414NB: 053

2414B: 067
2414NB: 054

1
345292-7
Under Cover

Under cover (Part No. 345292-7)
has been added.

1
265985-9

Hex. Socket Head Bolt M6

1
924306-1

Wing Bolt M6x10

1
344089-1

Stopper Plate

1
251887-5

Screw M6x10

New

Height

Wing bolt M6x10
(Part No. 924306-1)
has been added.

Hex. socket head bolt M6x10
(Part No. 265985-9)
has been added.

(Arm: The part remains the same.)


